. .
Agl aSem Admi ssi on

f'ﬂglﬂgﬂ_i ] Apttude Test for A ot e 7 _EE

T | Rl b (Laresal Entry Guestion Sookiat &5 He, / Cods

HERNENER e

T T | G ARSwer Shaet Ho

S ¢ Deslaration _
TiwmsmiwE A S e T T

§have read and enderstood the instructions glven en pags No, | Soal ol Suzsrinlancent of Exumirgten Cere

1
i l
Hohes & v | Signature of Candidale |

|| (=i % 5 M ¢ s signed in application) |ﬂﬁﬁﬂt%mf&ummwmmngmr

iy = =

Mama of Candidats :

T i s A T A S T 2 gF | |HE S Macks # nyd £ 2w

No. of Pages In Booklet inciuding s | 10 | [Time 2 Houss 400 of Guestions In Booldst | 100
T & A | MSTRUGTIONG T0 CANDIDATES

_____ e e e e e e e e

i’maﬁwﬁmmmme@maﬁ#mﬁm T ¥ o () ST S
ﬂﬁm#ff&wmww ST T T W S aia 8, 4 A o S 99E W R e aﬁrwwi
=Y & W & A Ao wom | DR
To be copled by the candidalo In your own handwriting in the spece givon belew for this purposs Iy compubsce

I m?ﬁungm m:r.ﬂmnwsﬁm wiréR © you wake ansicut 18 9o fo wark, pou wr.p'?.:-!:':n your bast gady. :H',L-'M

i
|
i
i
|
I

e —— A —— it e e e e e e e e e .

e i awes Rl | Instructions for the Candidate :

1 oo . v e Tl g aed st s wvi d | 1 Ues BLUE or BLACK BALL POINT PEN only ket &l eriies
mmﬁmmmgﬁghﬂﬁm‘wﬁ| and for filing e bubties in the OMR Answar Shoat

2 SECURITY SEAL sma ke sl oomom, @ £ Bewra cpemng e SECURITY SEAL of tha quealion
561 7] 4. T, T, - sk 1 A 5 St bocklal, 41 your Nams, el Number fin Sorzas, OMA
S o 0 T o o A e P e e e A o e Hb'y“cnhc'qmmphnuf iced = o top o
ﬁ;ﬂtﬂﬂmumwnmmwmm meild moan that tha Answar Shest can rot ba evaluated
i R laading the dscualifcation of the canddate.

5 i W S W ) o e A i g v Y, 79 | 8 E3chqueslion caimss FOUR MANS 1o mars wal be avasd for
9% g 25 T T e T e Ok A e e wiatiempied questions. Thesis mevegaiive mrading cnwsonganee

4 @ S T A T ATk, Bra T chn Sy gomy | @ EBoh MURERS chotos quasach Ras orly TN Cormach S |
— . - ond madks sholl be owarded tor comect anawgr, |

5 mmzhwﬂﬁ{mﬁmmmﬁmm B Use of calculeior, log tables. mobile phonss, any eloctronic
ibitact .

O T R WA R gadoat and Side ula 8t (s aivetly prohi
6 ST 1 Wi W Snet 2 e ahe S A A T | 6 Canddate wil b Alkbwed £ feave the sxaminafon 12 o
ST A1 iR ihe end of eEmnion me parksd only Fages
T iy fieds et e T o e @ G, faea R | | 7 @ Sancionts B found I pedsassion of ook of any Chir | mm
T S T b R e, 31T A S e fem simiad o wiiti=n matsdal from wiien baisha might derve (B
TR, T e e v e e gosistanca, halana ia liabls (o ba ksaled a3 diequaliiod |
G T A (0 e e S T Simitariy, if 2 canddate & lund glving or obtaling (a1 ]
=, 1A i e i Fo e s 1o Eatts o b g o souce, | B8
3 TigHn i W Al w0 A G- o s 9 LW S S | @ English varaton of quastin paser s b be considered oo |
sifig s authentic and Thal ko reslva ary amsguaty E

O



http://aglasem.com/
http://admission.aglasem.com/

1 If TERPLE is coded as VHOURL
qew would you code CHURCH?

(A} ERYWIC (B ERLMWID

(01 ERYWIN (D EEYWID
F) Finid the odd one out

(41 Apple {0}y DEapana

() Cucumber (D) Papaya

3 Tind the odd one out fTom the series

[

3,08, 10, 14, 17, 21
(&) 3 B 3
() 14 oy 21

4 Find the odd one out from the senes

10, 25, 45, 54, 60, 75, 80
Ay 45 By 75
ic) 54 Dy 80

Firel the odd one out from the series

6, 9,15, 21, 24, 28, 30

(A) 6 B 9

TNERE (D} 24
[111

i

®
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ind the odd cne oul frons the series

F
B35, T34, 642, 741, 833 BEL 532

St

(O B35 (B uih

Rajesh siaring from his houss, goes
4 Ly in she east, then he wems o his lefl
and goes 4 km. Finally he rumms 10 his
left and goes 5 km, How far is he Fom
his Bouse and in what direction?

{41 4 km from his house and in the
norfh direction

By 4 km from s house and in the

sputh divection

(C) 3 km from his house and in the
north digection

(0 3 km from his house and in the
south direction

A girl introduced & boy and said, “He is
{he son of the daughier of the father of
my uncle”. How is the boy related to the

gl 7
{4y Brother iB1 Diephew

Soar-in-law

(C) Ungls Dy
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The following quesiion has a main
statzment From which logical conclusions
follow. Sefect the right conclusion from
the options given balow
Statements ¢ Ina one day cricket maich,
the tomal runs mads by 2
team were 200 Out of
these, 160 mns were mads
by spinners.
Conclusion : (I) 80% of the team
consists of spinners
Iy The Gpening
batsmen WeTe
spinners
(A} Oaly 1 follows
(By Onmly T follows
(€ Meither T nor 1T Sallows

(D} Both I gnd IT follows

The following guestion has & main
statement, followed by four sisements
labelled A, B. € and D. Chooss the carregy
option from which the pair of statements
are logically consistent with the main
siatemeni.

Statement :  You can find goods made
in the USA only in the
Unired Siates.

(A) T did not find zoods mads in the
UsA

(B) T iound goods made in the USA

{C)y 1 went to USA

Dy 1 did not go to TISA

Agl aSem Adm ssi on

Directions for (heasifons 1112 2 Iy each af the
guasitons given belows there 15 o sertence of

which some paris have been fumbled up,
Choose the proper sequence of arrangemen

Jrom ihe given gprions,

11 He was s0 kind and pensrous tha
P He not onky
Q- made others do so
B b also
5 - helped them himsell
The correct option would be :
{A} PSR Q By SPOR

(Cy RQPS Dy QPR S

12 He said -
P:  Here is the ca
Q:  throughout the nizhi
R which played havoe with ﬂliri.gs
5 aie the rat
The correct option would be |
(4 PSROQ B} SEPOQ

iy RQPS i PROS

O



http://aglasem.com/
http://admission.aglasem.com/

14

i

Poisting 1o Madhey, Verman seid, “T am

the only son of the sons of his father”

How is Madhav selated to Varman 7

[A) MNephew
21 Unele
0y Faiher or Uncle

iD) Fatber

Which of the follewing word appears
third W the dictionasy 7

{A)  Cambodian

(B) Caliper
{C) Cake

Dy Cackle

T @ cerain code, a mumber 13479 is
written 2s AQJFIL and 3268 is wrilten as
DMPH. How is 396824 written in that
code 7

(A QLPME]
{B) QLPNRF
iC) QLPMMNE

Dy QLPNDF

16

17

18
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i which of the foliowing day is Umited
Nations World Water Day celebratzd
(A)  Jamary 28

(B September 05

{C)

February 25

(D Mlarch 22

Which of the following team has won
the 100 cricket world cup the maximum

pumber of times?
(A) India
(B) &i Lenka
{Cy  Sourh Affica

(D Pakistan

Wherse is the heedgquarers of ASEAN
simaated 7

{A) Dew York, USA
{B) Gensva, Swirzerland
(Cy  South Jakaria, Indonesia

(D Malaysia
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1% “Drief History of Tine™ is writen by ;| 21

(A} Szephen Hawking
(B} Amiav Ghosh
(C)  Ehushwan Singh

D R K MNarayan

20 Select a suitable figure 1w complete the

figure mairix :
22
aja
=]
=] [=]
OIS
b B °
23
o =]
(A B) | 5
©) QQ@ @) | €4

[11]
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Grand Ceptral Terminal, Park Avenus
Hew York is which of the following
(A) Largest Rajlway Station
(B} Highesi Railway Station
{Cy Longest Railway Siation

BMons of {hese

D

The famous “Sun Templs™ i located

in :
(A) Bihar
(B) Orissa

{C)  Tamil Madu

(D

Andhra Fradsch i

The famous “Golden Templs” is located .
in:
{A)  Ludhieng

Jalandhar |
Kapuribala |

Armnritsar
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Whe 15 the Indian woman badminion
player 10 became aumber onz in the
wiorld?

(A} Saima Hehwal

{B) Apamna Popat

(Cy  Madhumita Bisht

Ty P G Samdhu

The famous leaning tower of Pisa is in
(A} France

(By England

{C) Fussia

My Tualy

The chief constituent of Gobar gas is
(A} Hydrogen

By Methane

{C)  Gobrane

{0 Carbon dioxide

a7

18

29

©
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Philology is the swdy of
{A) Bones

(B hluscizs

{C1  Architecmars

{1 Languages

Who, among the fellowing, was the last
Governor Greneral of Indis

i4) Pandit Jawgharlal Nehm
(B} 3 Radhakrishzan
iCy €. K. Rajagopalachar

Dy Lokmanva Tilak

Ampesiy Intemnational is

{AY  An organisation dzaling ~ith human
righis

By An organisation for the uplifiment
of the poor and neady

(0} An organisation for freedom of

press
(I Mone of the above

PO,
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30 In India, sesis are ressrved for women in | 33 Cirapiiz is
(A} Lok Sabha {4) o form of Carbon
(B} Stuie Legislative Assembliss (B} an altoy of Iron E
{Cy Cabinets (Cy an allov of Aluminium .
D Panchavati Raj Bodies (D) an alloy off Gallhum E
31 The Elephanta caves found in Ellora are | 34 The name of Bismillah Khan is assosiated l
an example of with
(4 Buddhist Architecture (A) Flate 1:
(B} Chola Architecture (B) Shehna:
(C) Pallava Architeciure iC)  Sarod |
(D) Mene of these (D} Tab'a :
|
32 Washing Soda is the common name for? [ 35 The pink ey of India is the capital of
{A)  Sodium Carbonate (A} Madbya Pradesh
tB) Caleium Carbonate (B) Rajasthan
(Cy Sodium Bicarbonais (C)  Andhra Pradesh 1;
Dy Calcium Bicarbonate () Tamil Madu ) i
L

[11] @
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3 Wimblodon Trophy i asseeiated vt ¢ ] 39 nigwe the smaliest addrosseble set of Bis

of the COmMpoier MemoTy

{AY Football

{B)  Tenniz
A By
iCy Crighet i
DY) Hockey (Br Word
(T Pivel
37 The Wheel s220 in the middls sirip of the
Indian National Flag bas how many
L (D Digit
number of spokes 7 1
{A) 24
B 20
{c’ 43 40 fv'ICIﬂafCh}' madans
@) 18

iA) A form of governmen: headed by 2
dynasias mler

33 Sarnath is well knows because of

. By A person with the right 1o voie
(A) Oil refineries

(By Holy place for buddhists i) A collecior of stamps

(C)  Anciem capital

i T A eovernmen: by the rich
[ Big stes] plan ! SOVETTE o

[11] (s)
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41 Which word is the antonym {or the word | Direcrlons for Q48 - (49 © feo words are
“Rich™ 7 ivers which Furve a cortain relmitonship o eoch

(A]l  Poor {B) Famous
(Cy Misgrable (D) Full

41 The one word which is the symomm of
the word “wet”

(A} Rainy (B} Sunay
(Cy Dry D) Seormmy

43 Insert the missing word in the following

SRNEECe - 47
shall | say is calling?

(A Whoss (B} Who

iC) Who's (D} How

Choose the correct option to replace the
italicized part of the incorvect sentence in the
questions {44 and Q45 below : 43

44  The man to who 7 sofd my house was a
cheat

{4) whom I sell (B) who T sell
{C7 who I sold to (D) whom I sold

49
45  There was oo city so famous lke the city
of Ujjain.
(A} as (B) such as

¢y likewise (D) as like

P11] (o)

other Select the pair which Fas the same
relationship.

46 Lighi - Blind

(A} Speech | Mue
(B) Language : Dweaf
iC)  Speech : Dumb
(D) Voice . Vibration

Ten : Decimal

(A) Sewven : Sepiet
(B) Four : Quaret
(Cy Two : Bimary
(D Five . Cuince

Ciravity : Pull

(A) Tron ; Metal

(By Magnetism : Artraction
{Cy  Dust - Desart

(D) Morth Pole : Directions

Fiker . Water

(A) Curail - Activity
(B) Expunge = Book
(C) Edit . Text

(Dy Censor © Play
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50  Chooss the senience which has a | 58 Swmonym of “Aleq™ ©
grammatics] error (A} Energetic {B]  Observant
{4a) IF1 had known (T Entelligent (D) Watchful

(B) This yesterday
85 Synonym of “Moving” 7
(A) Taking (B) Toving
(C) Shifing (D) Tuming

£C) 1 will have helped him
(1 do this weli

51 Choose the sentence which has a | 54 Antonym of * Artificial” 7

grammaical error.
(A) Red (B) Mamral

(A) One of the members () Truchful D) Solid
iB) Expressed doubi iff
{C} The minisier was an honest man | 57 “To keep one's temper” means

(D} Disciplined studests (4) To become too angry
(B} To bz in zood maod

{Cy To be in bad mood
(D) To be temporery

Seleeq the correer spelling in 0. 32 and (. 53;

82 (A) Pessenger 5%  “To drve home”™ means
(B) Passenger LA} To find owt one's homs address
(C) Pasanger {B] To return home
®) P (C) Back w0 original

(DM To emphasize

5% (A) Faithfuly 590 “Gift of the gab” means

(B) Truely {A) Talem for speaking
(C) Sincerely (B) Talem for writing
(D} Affeciionatly (Cy  Talent for painting

(D} Mone of the above

[11] (10)
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Direcitons for L 60 = (0 61 : Pick o the
most effeciive word(s! from the given opiiois
for JilT i the Blank to meaningfully comples
i senrence.

60 | haven'i exen a mango s long
while.
{A) from (B)  cincs
iCy for (D) umniil

o stop pollution

(B} opecate
(D perform

61 Man must
(A acl
{Cy behawve

Direcitons for Q. 62 = @ 63 . Fill inr the mo
blank spaces in the semiznce in the same
sequence i make a meaninglul sepence,

62 Do women leadership differently
than men do? And if so, will feminine
leadership succeed where
lepdership did nm”

(A) undertake, authoriiarian
(B) undertake, masculine
{C)  undertake, traditfional
1D charismaatic, undertake

63 Watermelons to India by the 40
century A.D. Sushmuta, the grest Indian
phyzician wrote Swoshrutz
Sambhita explain: the medicinal properiies
of watermelons,

(A) came, whe (B)
(€} arived, when (D)

came, certainly
armved, whom

1]

®
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Direcifons for . 64 - (& 63 : In eoch
incemiplete sentence given, choose the o
which completes the seiience i a maaingil
FLY o

6d 1 el somewhat mere rolaxed
[A4)  bur rense as compered 10 garlier
(B)  and tense as compared 1o earlier

(C)  as alveady there was no tension at
afl

and tension fres as compared 1o
earlier

(D

65 Despite his best effons o conceal his

RNZET oo

iA)  we could make ou thar he was very
happy

{B) he failed to give us an impression
of his agony

iC) people came o know that he was
annoyed

[} he succeeded in camouflaging his

emotions very easily

66 The ratio beoween the lenzih and breadih
of a rectangular park 35 3.2 If a man
cyeling along the boundary of the park at
the speed of 12 kmhr compleiss cne
round in 3 minutes, then the arza of the
park in sq.m is
(A} 15380
iy 20710

(B) 153400
(D 307200

67  What i the least number of square tiles
required to pave the floor of a room 1 5m
17em long and 9m Zem broad °

(4) 814 (B) &40
{C) 34 Dy 820
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in the first ten overs of 2 ericket game, | Ploase read fhe follwing and incer the

68
ihe run rate was only 3.2 What should
be the run rate i the remaining 40 overs
io reach the tereet of 287 nums™
(A} 623 (By 650
{Cy 675 D 7.00
69 Ina miwiure of 80 litres, the ratio of milk
and waier is 2:1. If this ratio is 1o be 1:2,
then the quaniity of water to be further
added is .
(Ad 20 litres By 30 litras
{Cy 40 litres (D} 80 litres
T A person erosses a 600 m long strest in
5 minutes, What is bis speed in kan/howr?
{A}) 36 By 72
{C} 8.4 oy 1o
71 One km equals to
(A} 107 em By 107 cm
(Cy 105 em (D) Mone of these
72 A can do a plece of work In 4 hours, B
and C tegether can da it in 3 hours, while
A and C togedher can do &t in 2 bowrs
How long will B zlone take o do it?
{A) B hours (B) 10 hours
{C1 12 hours Dy 24 howrs
[11]
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G 73-{) 76
Marks secured by siv number of students n
wanous projects comrducted during 2011-2012

SEEEHIL
-

I.,_',.-;.u p; Froject | Frojoct ?l'ujn-'.l Project | Project | Projec | Todal |
| noj bl et ¢onod o s o6 | Narks |
P &l 5 A &3 & ETEH

) b i & =i 4 5 R

B 4 ] i ™ " T 23

5 A% ) 5 e 1 g5 | a7 T

1 T 54 [F; il [ 62 0 A 359

HIEE S w5 E] 5 ENIEREE

73 Which of the groups has shown a steady
improvement thronghout he session ?

Al P By Q
(C)y R oy 5

T4 The total marks secured by group S and
Group T wogsther was maximum in which

project 7
{4) 5 By 2
(cy 3 oy o

75 In how many projects did group B secure
morz than its average marks of the entire

session 7
LAY 1 B2y 3
iy 2 oy 4

76 Which group has minimum nomber of
changes in marks of projeci no &
comparad i project no 17
(ay T B R

i€y 5 D) Q
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77 Two ships are zaifing i ihe s22 on the
two sides of a lighthouse. The angle of
slevation of the top of the lighthouse is
ohserved from the ships are 30 degress
and 43 degrees respeciively. If thes
lighthouse is 100 m high, the dstance
between the two ships is
(A) Him (By 200 m
iCy 273 m D) 30 m

8 Which one of the following is aot & prime
nunber 7
Ay 31 B) &l
iy T Dy M

70 What lepet sumber is to be added to 1036
50 that the number is divisible by 23 7
(a) 2 B) B
{Cy 15 D) Mome of thess

80 A vendor bought toffees at 6 for a rupes.
How many for a rupes must he sell w0
2ain 208 7
iA) 3 By 5
(iCy 4 Dy o

fi1]

&1

&4

®)
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P d . a4 equals

Ay 1 By 14

Cy In (O ™one of dhese

Three times the first of three conseeutive
odd integers is 3 more than twice the
third. The third integer is

(a) @ By 1

L

(cr 1 B 1

(Y]

A fruit selier had some apples. He sells
40% appies and siifl has 420 apples,
Originally he had -

(A} 388 apples (B} 600 apples

(C) 672 apples (DM 700 apples

In s box, there are 8 red, 7 blue and &
green balls, One ball 15 picked up
randomly. What is the probability that it
ts neither red nor green ?

(&) 15 By 34

221

€y 719 ™)
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85

a7

85

[11]
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i 1A i 1A

In a gl of 800 km, an alrcral was
slowed down due o bad weathsr Iis
average speed for the wip was reducad
by 200 km'hour and the tme of flight
increased by 20 mirizs The duration of
the flight s -

{41 1 hr (B 2 hrs

(Th 3 hes 4 hrs

How many of the following numbers arz
divisible by 132 amongs: the numbers
264, 396, 462, TOI, 968, 2178, 3184,
ek

Ay 4 [y 6

(€ 3 iy 7

During rainfall, 5 em of cain falls The
volume of water that falls on 1.5 heciares
of land is

{A) 73 cum (B) 730 cum

(01 7500 cum (D TA000 cum

9

81

@)
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A ST OF FOnSY o sl

0% n 3

origmal sum was
1A Rs 54080 By Es G000

Oy Fs 10000 (L Rs 11000

Who is the CEQ and MD of ICICT?
1Ay Chanda Hochhar

B Indra Mooy

(Cr Sudha Muihy

1D Azim Premiji

Find the cdd one out in the follovang

arrangement of feiters
iAr CFE By RO

(Cr TIxW Dy 8YW

In a tocal club all the members
participaisd i either the mela onlv or the
tambola only. 320 participats in the mela,
330 panicipats in the Tambola and 22
participate in both. How masy members
daoes the club have 7

(A) 410 By 350

(Cy 450 D) SNene of thess

veers beoomes 120000 The
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T

83

95

[11]

Pawan said "This grl is the sister of the
grandson of my mother™. How 15 this @il

related 1o Pawan 7
tA)  Daughier

(B DMisce

{Cy  Sister

{2 Cannpi be determined

Spongs is 1o porous as Fubber 15 10 -
(4) Massive (B} Solid

(C) Elastic (D} Inflexible

Look at the ssriss 36, 34, 30, 28, 24,
what mumber comes next?

{A) 20 (B) 22

(Cy 23 D) 26

In the series 301, 303, 306, 310, ___,
what number should come nest ?

(A) 313 By 3

€y 313 Dy 3l
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] - -5
| Divections for (& 87 - Q0 20 Choose the

o

appropridie opiiosr ihat is q mecessary perd of

the mhderlined wored

%7 Schocl
(A Smdent iB1 Learning
(C) Exam (D Report Card
95 Pain
(4] hure (B) «cuwi

{C) nulsance {1 burn

o9 Shoe
(4} sole By laces

(C) walking (D) leather

100 In a certain code language “ACCEPT" is
writien a3 “CBEDRS™ How will
“FRIEMND™ e written in that code?

{A) HXQDCP (B) HOEDPC

(C} HSORYD (D} HORVDV

(1)

P —

T T — .
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